| SA120B

[t

VENT (LOCATION OPTIONAL)

3.59
2. 843

9 STUDS

4. 28 MAX
3.43
2.65

. 2500-28 UNF-2A / M@
i

.62

.62 T

@i
. 343 MIN —l——-

2.99

FOUR MTG. HOLES SHALL BE
PAINT FREE ON BOTH SIDES
OF THE MOUNTING FLANGES
FOR GROUNDING PURPOSES

CONFIGURATION MANAGED

+.010
0. 218 007

4 MTG. HOLES

CONNECTOR
MS27472T12F35P

REVISIONS

RELEASED

REV

DESCRIPTION DATE

[APPROVED)

K [38541

PARTS LIST UPDATED

99/02/12] RS

L (43073

RELOCATED .62 DIM
TO TOP OF TERMINAL

99,/02/12] CC

M 109-0025474

ALIGN W/ GVI-GER-7218

09/06/02

DLM

CONSTRUCTION

GASKET SEALED

RETURN MAIN CONTACTS
CONF IGURATION 3PDT SIDE STABLE
VOLTAGE ( NOMINAL) 115/200 VAC 400HZ
ca ] CURRENT RESISTIVE 80 AMPERES
=l INDUCTIVE 60 AMPERES
| OVERLOAD Mu MIN) 75 AMPERES
- SRR (10 [N
L g AUX CONTACTS
CONF IGURATION 6PDT
Blo—-= | VOLTAGE (NOWINAL 28 VDC, 115VAC 400/60 HZ
>wo|||a/4lxr|||||o CURRENT RESISTIV 5 AMPERES
A2 INDUCT IVE 3 AMPERES
Mo— | LAMP 1 AMPERES
corL para  OW LEVEL 10 MILLIAMPERES @
_mouula/F/¢|||||a DUTY CYCLE CONTINUOUS
19 OPERATE VOLTAGE 28 VDC
Bo— | OPERATE VOLTAGE M=>xw 32 vbe
o|||a/4/4r|||||o OPERATE VOLTAGE (MIN 18_VDC
70— | 10 FoCh VOLTAGE - .
_Nouuua/g/xruuuuuo COIL CURRENT (MAX) .40 AMPERES AT 20°C 28 VDC
tho— | 13 OPERATE TIMES AT"20°C AT 88°C AT 71°C
9 PICKUP TIME 50 ms =>xw 10 ms M;HZW 100 ms (MAX)
o T DA ke 25,1, (ke 40 15 () 10'eS )
6 I BOUNCE Mz>xw 3 MILLISECONDS
ouuualllsruuuuuoq STAGGER TIME (MAX) 5 MILLISECONDS
Bo—s | TRANSIENT SUPPRESSION +42 VDC REFERENCED TO ZERO VOLTS
3 ENVIRONMENTAL
o|||w/+/¢|||||a ALTITUDE (MAX)
5 4 LIFE ELECTRICAL Mszw 50, 000 FEET
o— CIFE MECHANICAL (MIN 50, 000 CYCLES
Ho WEIGHT (MAX) 10b, 000 CYCLES
SRR T .
R 4
20
92 |51804—040]| LOCKWASHER #4 SPLIT S. STEEL
8 [ 2 [51204—721] SCREW #4-40 X 1,50 PAN FD. STEEL
711 [SA120B10 | PRIM RY ASSEMBLY
6| 1 M% wwm% TOP SHIELD
511 1T BOTTOM SHIFLD ASS'Y
4 1 [WD016001 [ SCHEMATIC
3111[16043-001]| NAMEPLATE
2 19 [51807-034] LOCKWASHER 1/4 SPLIT BRONZE
110 [50407-074[NUT 1/4-28 X 3/8 X 3716 BRASS
FIND| QTY PART OR NOMENCLATURE OR CAGE DRAWING OR MATERIAL
NO |REQD| IDENTIFYING NO DESCRIPTION NO SPECIFICATION OR NOTE
INLESS OHERNISE SPECIFIED
s GULFSTREAM mq._.qu Electronics
2 PL DEC.|3 PL DEC. ANGLES P Hart. man™ivision 175 N. DIAMOND STREET  MANSFIELD, OHIO 44902
.06 |+ 010 + 5 [Pk BY[CSCI00/09/12 CONTACTOR, 3PDT
CHK BY| CC [00/09/14 !
MATERIAL ENGR | MRR [00/09/14 60 AMP, 28 VDC COIL
MF G [MES [00/09/15 GASKET SEALED 093
SIZE [ CODE IDENT T

SCALE 1/2 [SHEET

REF _TE P/N 1616042-3




